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���� �����	 ���	�	��	 ��������	 ������� ������	 !"��#	 $�% ��&'��	 *+, -'�. /��)SART .( 12���3

�4�5��6	 7	'89 : ����	 : /���; ��<�= 
9 ���>� ?@'= �A�B� CDEFG	 *+,.  

 7��B��	 /���; ��<�= 
9 ���>� -G HIJ
SART��"�K : �L9 $�% ��62��  . CDEF9 ?@	'= -�. HIJ
SART �M�	'N 
 �����	 O�M� : P�B3 �	�	�	�GHz 9.  

�	 �6��36	 ��BQ �;R�6��3�� S
2�	 ��.�� �BN���	 ��'��	�  

  �������� 	 
�� 
�  

  9(   T32%���	 �9III/6.2.2
 IV/7.1.3 1�% ���2B3 H= 1988 ����	 : ���U��	 C��V	 ����V ���
2�	 ��@�>36	 $�% 
(SOLAS) R1974�	�����	 O�M� : P�B3 ���	�	� �������= ����W H>��	 DE��3 �9 $�% !�3  GHz 9 2�2. H=X3
 

���>��	 ?@'=  ��<�= ?@'= 
9 ����	 : �4�5��6	 ���8 : �'I3 �=2�%�	Y/���  

Z(   ��@�>36 ?[\ 6 ]��>� �9SOLAS R1974 ���	�	��	 ��������	 �����	 H= ^���	 	+, P�B��3 �9 ?�M��3 
 HIJ
 R_�+< `�<�3��a : ���	�	��	 ��������	 �����	 *+, bBN ��"�% �P�B>��	
 O�cd� ��N�@ ��'��	� �	e'& : 
9 

 f�	'M�	 �BK'� ��"�%(EPIRB) ��'��	� �	'& 
9 REPIRB f�	'M�	 �BK'� ��"�% ]���3��Y  

g(  2%���	 �9C V/19 ���2B3 H= 2000 ���
2�	 ��@�>36	 $�% SOLAS R1974 ��< ��E= Z�<��	 H>� $�% h�>3 
'i �	/ H>��	 $�%
 �E��8 ����Q; ���	2�W 300 ��'i �	/ H>��	 $�% h�>3
 R]���	�	� ]	j�EF P�. �9 �k<9 
9 Hc 

 H= ����Q;5 000 P@G	 $�% T��	�	��	 H�j�El	 28G 
9 -�	�	��	 j�E��� m5���
 YT��	�	� H�j�EF P�. �9 R�k<9 
9 Hc 
 �	�����	 O�M� : P�5U��� ]�N�@ �'I� �9GHz 9 H= n	2�N	 1 ��	oA 1995Y  

� (   ���
2�	 ������	 ��p��	 �9(IMO) 2@ �	 �2��%	 ��&'���UN ���<�� ���	�	��	 ��������	 �����	 P�5U3 q��B= 
 /����	
 
���	 �����% : P�B��3 r�	 /����	) �	���	A.802 (19)(Y  

 , (  1�p��� �����G	 ����M��	 289 ', ?@'�	 2�2. �9�� m��B�	 ����	 : �=���	
 �4�5�� (GMDSS)Y  


 (   �������	 !"��# ��N�M= ���	�	��	 ��������	 �����	 s��< 	/; ����BA �k<9 �'I� 2@ ?@'�	 2�2��� ]�=�p� �9
 P�5U��	
�E��% t>��	R]���
�   

uuuuuuuuuuu  

*   �9 ��'��	��	 �6��36	 `�I= ��2= H= `�M� ^�v ���
2�	 ������	 ��p��	(IMO) ��p�=
 	w2�	 �	qM�S
2�	  
(ICAO) ���
2�	 ����3�EI�	 �����	
 (IEC) �MN	��	
 ���
2�	 ��M��� �	����	 (IALA)R��&'��	 *+x ]���% .  
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  �����  

1  ��N�	
 
����N �&�#	 ���	�	��	 ��������	 ������� ������	 !"��#	 �'I3 �	�����	 O�M� : P�B3 r�	
 /���  
MHz 9 500-9 200 ��N�M= ���>&	'��: C��	'�	  t���	 1Y��&'��	 *+x   

2   C'�� yU< z2= $�@9 �2�� ��NSART t����� ��N�M= ����3 !"��{ �| 1�	���� tN�M= �	�	� H= R 
MSC.192(79) ���
2�	 ������	 ��p��	 H% �����	 �#	 �����@ }��9 $�% : C�'<+�	 ���p��	 ����M�� ]���c ������	 !"�

 t���	2Y  

3   ���p8��	 �'I3 ��N1
 2��&'��	 *+, H= ]	nDF .  
 �����1 � ����� �	
�� 3 
����� ����� ��� ����� � ������� SART !"���#�$�% &�'�(� )*$+, -**�� .  

 �����2 � ����� �	
�� 4� )/0'��� 12�34�� 
���%  5�3SART!+2�6�� 7�8'�9�� :�& .  

 #!���1  

 ��������� 	
��
���� 	������ ������� ��
������"��  
� $
%��� & '�() *��� �
����� �!��MHz 9 500-9 200  

1  �����	 :MHz 9 500-9 200.  
2  Z�M���6	 :m�A9-�"	� 
9 .  
3  ��I�	 72B= :μs 5 PF9 H= MHz 200m�	 R.  
4  �[�3 �9 `� �N����6	 C���; H12]���< .  
5  ��I�	 PI� :R��U�= H�   ��< C2=m=�=9 :μs 7,5  ±  μs 1 

    C2=m�I% ��< :μs 0,1 ± μs 0,4 

    ��IN �N����6	 92�3 �9 m5���m�I%.  
6   7���;m[�� :μs 100m�	 .  
7   C�2��	e.i.r.p. : H= P@9 �'I3 6mW 400)  ����� ��A�I=(dBm 26 +.  
8  	 �����V	P������� ���B>�:   H= P[A9dBm 50 −)  ����� ��A�I=(mW/m

2
 0,1) �p�	 �p8��	 1.(  

9  P�5U��	 C2=:  96 ���8 : �%�� ��p��6	 �EB��3 8 P���	 �6���; H= ��%�� � ?= `�����	 
 ��[���	 �	�I�� ���3 �	/
 C����= ��=�E>��6 �N�F�	�	2�W kHz 1.  

10  C�	�V	 ��F�� z2=: �	�M�:  H= �C °20  �;+°55 CR 
     ��D��	:  H=�C °30  �;+°65 C.  

11  C��4�	 2BN �	����6	 s@
 :μs 10P@9 
9 .  
12  m"	'E�� 7�B>�	 ��>3�6	 :m1 ≤) �p�	 �p8��	 2.(  
13  7����	 ��	2N
 �	�	��	 C���; 7�����	 TN ��&�>�	 C��>�	 :μs 0,5P@9 
9 .  
14  V m�9��	 h�B�		 �=Dm"	'|:  °12,5 ±'���	 �; ������N P@G	 $�% z-�	�	��	 `�����	 P����� m�AG	 .  
15  �	 h�BV r���	m"	'|	 �=D:   H�K ��,��6	 ��=��dB 2 ±.  
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 �����1 � ;2��<� =�$ >*'��	�� )��?��� )/9��@� �	
��.  

�   H= P[A�N P������� ���B>�	 �����V	 t�M�3dBm 50− ��[�� $�%  �	�	��	 1�E>��	)���'M�	
 �M�'��	 ( r�	
 O'>3ns 400.  

�   H= P[A�N P������� ���B>�	 �����V	 t�M�3dBm 37− �	�	��	 1�E>��	 ��[�� $�% )Cq���	 ( -
��3 r�	ns 

100�����	 *+, H% P�3 
9 .  
�  U�	 7����� h�B�� �=2�% �����	 P�5U��	 $�% ]	���@ �'I� �9 P������N h��>� ?(dB(W/m

2
) 28) ����� -+�	 

 ]���c ���>��	 �	�	��	���� MSC.192(79)  ���
2�	 ������	 ��p��	 H% �����	 O'>3 �A��= -9 2�%m 20.  
 �����2  � A��6B�'�� �C/8D� E�� :�F/CG��� H�B ;2��C�� I�?��� J������ �"� �*80� III/6.2.2% IV/7.1.3 :K�6?� �, 1988 )/L����� H�B 
SOLAS M�B N,+OP E�� 1974.  

 #!���2  

 C'& yUI� z2= $�@9 �2�� �9 HIJSART C�2@ �	/ e.i.r.p. �	�	� ?= �U�� P����� ���BA �����8
 ����= 
9 ���B= 
 tN�M=�	���� MSC.192(79) ���
2�	 ������	 ��p��	 H% �����	 _�/
 `�8 PIU�	 1.  

m, �	�	��� �����G	 ����B�	
:  
�  	 C�2@P��� :kW 25R  
�  m"	'|	 `�< :dBi 30R  
�  m"	'|	 ��>3�	 :m 15R  
�  P�����	 �����8 :dBm 94−.  

 PIU�	 PkJ
1'& �	���� ��U��6	 ������= z SART H= ��%�>3�	 ?= m 0,5
 m 1
 m 1,5 ]�"��, ����	 �'I� �=2�% 
 ]�����) �F'�	 ��>3�	m 0,3 .(�� R]�����, �k<9 �� ���8 : �=9 : ��U��6	 ������= ����3
 ����	 }�IB�	 P=�B= b>�

-'l	 ���I��� ]��A
 �V	 n�[>�	 �'M{ *��	 . C'��� yU< z2= $�@9 �'I�
SART 28	
 ��= ��>3�	 �	/ (m 1) 
 ����NNM 5P@G	 $�% .  

 PIU�	 7��B��	 ����c
1S���	 '���	 $�% �'I3 :  
�   �	�	��	 �E������ r�	 C�2��	 Z��8(Pr) z2�	 : NM 1������	 C���B�� ]��A
 :  

    Pr =  C�2��	e.i.r.p. C'��� SART × �	�	��	 m"	', `�< × (λ⁄4 π R)2 
  

-9 (dBm) Pr =  C�2��	e.i.r.p. C'��� dB 87 − (dBm) SARTY  
�   C�2��	 P���3Pr �M���	 2�% �N'��	 A ����	 7��<;
 P3���	 �E������ r�	 C�2��	 ��� $�% dB 10)���23 PI� (Y  
�   P������� ���B>�	 �����V	 P���3(ERS) C'��� SART ^#	 ���
 `�����	 P���	 �E������ r�	 C�2��	 ��� $�% 

 yU< z2= $�@G `����	 ��U��6	 ���= ?= ?c����	 �M�� 2�% Cn	���	
 �M���	 *+, 2�% ������	 ���4	28d� -j	'�	
 C'��	SARTY  

�  '��	 ����%	 ��dBm 94− *+, 2�% `����	 ��U��6	 ���= ?= ?c����	 Cn	�@
 �	�	��	 �E������ r�	 C�2��	 ��� $�% 
 C'��� yU< z2= $�@9 $�% 7'�V	 PF9 H= ��'��	SART�	�	��	 '� .  

 C'��	 yU< z2= $�@G Z'�M�	 ��2���	 m, yUI�	 z2= $�@G T�����	 T3�, �5&9 �'I3
SARTh��>� -+�	
  
 ����N �'I� �9NM 5 ]���c P@G	 $�%  �	����A.802(19) ���
2�	 ������	 ��p��	 H% �����	.  
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 �����3  

��	
� �
��� ��

�� ��� ������ ��� ������ ���!"� #�$��� %��&'�  
�(����!)�� *+� ,-� . , SART  

1  ������  

���� ����	
 ����
� ��� � �������� ����� ��� ������ SART ����� !"��� #�$%�& '�()* SART +�,�� -./ 0�) 
�1�2�* 3�(
4� 5,2+� 6��� 7,,�% 8��� 9����� :��2*.  

2   �	
�� �
�	� ������ ������SART����� ��� �   

< 5=>���� ?�� @�.% ����� !"��� #�$%�� A�B� ASART C��D� EF< G� +�,�� -./ 0�) E�H� I�J '�KL�* '�+�� @2+�� 
 M�2 �K� I�J5 7,�.�� 8��� 5�+N C�=�<  ��+(��A.802(19) 5=�*K�� 5�+�,�� 5OP��� GJ �6���� . ����,�Q� �K2< K�*
R�6H� ��� 5=
�K=� .�> S/ G� 5�=J I�J ����,�Q&� S.J< K�*� SART 9T U*�+�� M�2 �K� 9$��V 9W
���   

NM 8,2* NM 9,2 X�,� !"��Y�� #�$%�� Z� '�KL�* '�+��.  
1.2   ����� !"��[ #�$%�� I�J \�$D� 5=]< '�^�< ����,�Q&� S�=TSART K�J m 1E�H� I�J  . 5=����� _"����� S((L*

3�(

 5,2+� � ��> I�J:  
a   ��>SART(�� ��� 5=b�< I�J �5,2+:     �K�NM 1,8  
a   ��>SART M(% '��6�OJ5,2+�� c�< I�J :   �K�NM 2,5  
a   ��>SART 5O"�J -./ I�JR���  :     �K�NM 2,0  

3   �	
�� ����� � ���!"� �#$%� ������SART  
 ��> I�J ����,�Q� S�+F<SART �Y=) !"��[� #�$%�� X�,� 3�(

 5,2+� � �d2+� '�KL�* '�+���Ke EF< G�  S
�2 �3
 �� K

����� '�,fL @,�% �1�2� *< 3�(
4� 5,2+�.  
1.3   G� C�B	H� c+W%2 g
 4 ��f��� h�i G� 9$��V 9F3�j I�J 5((k� ����,�Q&� ?�� _"��
 SOLAS Z��� 

l�m	< 5=
�On� .���� Zb�% S
�2* ��6�� ���	
 CoQ G� ��.%* U��$� C�p � �*K% 5��� q/* � r5��L E2 � r�
5^,�� . ����� I�J R�(T4� Z� st*KT* 7T�2�* ��f��� h�i Z� ��/�=(�� G� 5J�Op E2 S((L*SART 5���� q/* � 

���*K��.  
2.3   EB��� 9,�*2 ��> � 5((k� _"����� SART � �K>�� 5���/ I�J �d2+� ��f��� h�i !"��� Z��� . !"��� A�2*

 �����SART r0�.�� 5,(� sJ�K�� u�,
H� 5��/ K�J r5��D� ?�� � . �O�=T r���	4� � +2�� & ���% 9)�.�� KLH A�B)
 +Qv� h�.�� @,�%)A�T+B�� I�J sJ�K�� u�,
H� 8��x y=L ( 5�*�{ GOb ���	|� E=� �30°'�,�+(% .  

3.3   EB��� 9,�3 ����� Z� GB� �OY�$
 9)�.�� I�J 5((k� _"����� SART EQ�6 sJ�K�� u�,
H� G� ��W�� 5OO�� 
h�.�� 5,� . ����Q SPL��*5�=}b5=/<+�� Zi�(�� ~J ���	4� �*+� K�J A�T+B��T 5�Ok� @=T�
H� @,�T ���	|�  .

 M��� g
 �2�J q�+	 6�F* @,�T ���	4� ?�[ E=� '�^�< �L��*��f��� h�i 5,� G� !F���� @
��� � . �KL*
 9)�.�� KL< I�Jc�$�� ��=n=���T �����.,�� G� 5J�Op u+� @,�T :�3* '�KF ���> 5�*�{ � ���	|� ��O�� 5,�2+� 

5��.��T h�.�� Zb�� K�Ke R��b< 5����� 5,(�� I�J.  
4.3   EB��� 9,�4 ����� EOx ���
 7,,�� 8��� @fD� ���% SART?K� �  . ����� #�$%�� {*�f�� o)SART � 

 5��D� ?��m 0,5.  
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 EB���2  
 ���SART ����	
���
� ���   
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 EB���3  
 �����SART����� ���� ����
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����� ��	�

���
��� ������� ������ ����� �����

 �
� SART����	  

  �
�SART ��!"#$ %
��� &'( 1 

  �
�SART ��!"#$ %
��� &'( 2 

)"�*�� +�#,�� ������ �����-�
.(���� /
�01� 2 3
�#4�� 	5/	
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 EB���4  
 ���SART���
� ����!   
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����� ��	�


 ��
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  ��
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5.3  �����+(��� M�B�� �K� g
 C�B	H� G� EB	 E2 � � . M�2 �K� ��/< I�J '��+P
 �K�� ��� ��m���*
 G�NM 8 �YJ�$%�� ���� m 1 G� �K�* NM 7 #�$%�& m 0,5.  
6.3   ����� Z� S((e _"����� E^)< A< C�B	H� 9,%*SART 5,�2+�� �K� c�$�� {*�f�� � y=L 5���/ I�J 

 h�i @,�T M�B�� GJ ��f���NM 0,5'���OJ r . G� 5(=b ��J�.� I�J R�6H� � c�$�� �&�D� E2 � E�L*1,5 
 g
NM 2,0+�,�� � '�=�OJ �+��� ��f��� h�i AH 5=�=��% 5�B�� EB�� G� :�3 GB� r . EB��� � 9,�� �=$m��� ��<4 

 ����� �m��� AH '�=�&6 ~�W� o) rl�m	H� 6�F* 7,,�� 8���* 8< !"��[� #�$%�� {*�f�� & ��f��� h�i � '�+��
'�KL�*.  



�������  ITU-R M.628-4  

  

9

7.3  ��,�Q&� R���< h�F ��� h�i Z� _"����� ?�� S((L . C*K�� c+W�*1 @=T�
H�* 5,(�� 6��� ����
&� ����Q 
9$��V 9W
�> ��� h��i< � 5�OW���� . !.W�*A�K�,��� R�� 6���� E�,% ��K�J ������ A��QH� +�,� . ������ A< +YP�*

 �&�D� <�/< � 8*��% 5��,�� 6��O�� 5=)�b4�dB 3,35 5O=(T M�B�� �K� � '�b�$�� ET�(� �� ���* NM 0,5'�,�+(% .  

 C*K��1  
 �
"#�� ��$ ��% &� �
'()*� ��
+�)-
�
���� ./
()(  

         ������� 	��
�(dB)�
�� ��� ����� ��  

�������  �������  �����
�  
(mm)  

�����  
(kg/m2)  �����  

        θ = °0  θ = °30  θ = °45  θ = °60  

1   ������ ��
�� 	!��A  0,18  0,22  0  0,1−  0,2−  0  

2   ������ "���#� 	!��A  0,53  0,7  0,05−  0,05−  0,3−  0,2−  

3   ������ ��
�� 	!��B  0,25  0,27  0  0,1−  0,15−  0,05−  

4   ������ "���#� 	!��B  0,57  0,67  0  0,4−  0,4−  0,45−  

5   ������ ��
�� 	!��C  0,26  0,3  0,2−  0,5−  0,3−  0,4−  

6   ������ "���#� 	!��C  0,54  0,67  0,6−  1,4−  1,9−  2,4−  

7   ��
�� $�"1"&��� '����  

(4,8% NaCl)  
−  −  0,35−  0,55−  0,95−  1,1−  

8   ��
�� $�"3"&��� '����   
(4,8% NaCl)  

−  −  1,3−  1,9−  2,6−  3,4−  

(��
�� !!�) :GHz 9,4  

������ *+, :mm 800 × 600  

  

4  ���������	  

 ����,�Q&� +YP%A<�> � SART '�,=2+% 5,�2+�� 5OP��� 7,�.% 8��� M�B�� �K� �(e '�O"o� IMO 6�F* � �L 
3�(
4� 5,2+� @fD� �����% . 5F�L &*@=2+�� ����� SART K�J./ 0�) KL�* +�� G� +n2<  A�2 �3
 �O=/ & +�,�� -

 '�=)�b
 �K� +)�%* E,(���� � �(e K� !"��[� @=2+% � ���=�e GB� 9F���� g
 5,����T �=(���� @W> ��b4� #�$%�&�
M�B��.  

1.4   ����� R�6< � ��6�+�� �2�J ���% ��,�J&� � ����,�Q&� �Q�% &SART�,2 '�i�.�� @,�� A< Z����� G� GB� r '�
 ����� 5T�f�/� �SART . ����� +�
 �KWT A�F���� -���*SART AH �Y�$
 3�(
4� 5,2+� I�J 8��6�� �2�J* 

 ����� @fx K� �2�W��SART.  
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 �����4  

��	
� �
��� ��

�� ��� ������ ��� ������ ���!"� #�$��� %��&'�  
!(�� )*� +,� - �.����+ SART  


��
  

 u�.(�/&� A�2 ��> � 5�Km���� 5(�+.�� �� !()H�SART . C�OW�/� A< A�T�=�� � S�+F< 5n�KL ����,�Q� S��=T K�*
�.(�/&�u ��> � '�O"o� A�B=/ 8+"�K�� SART . ��> 5T+f��� c�+�H SW�> K�*SART '��+"�6 '�T�.(�/� �Km��% 

�� �* R��� G� c�L � u��� �Y=�J S�+F<* '�=
*d�L '�="���*+�, . � 8+"�K�� u�.(�/&� C�OW�/� 0�$% _"����� �+Y�<*
 ��>SART����� ?�� sfL � �=$� g
 86�� �� .  

1   ����� �����SART���	 ��� �	�����	 �   

 ���	
 G� ��(���� ��K(�� ��/�=� S�+F<SART 5^,��� Z��� +	�� I�J ���	4� 5��� 5=
�B�
 �K>�* )PPI ( ��6�+�� �
� :�3*A�T�=�� � ��N< ~�V � 5=J��.>� �����T R��� G� c�L  . I�J 8+"�K�� u�.(�/&� 0�$% _"����� �+Y�< K�*

 ���� 5,����T !()H� u�.(�/&�SART.  

2   ����� �����SART����	 � !"�# �   

 ��J � 5T+f��� ?�� S�+F<2000�=�� � 5�+�,�� ��.���� ��+"�i* G$/ @
�F G� A*�W�T r r!����/ _=�Q � A�T
 ���	
 5��� 5=
�B�
 �Y=) �K>�*SART��+"�.��* G$��� �� I�J ����6�� �  . ��(���� ��K(�� ��=� �+F 7%�3 S���� �*

 ���	
 G�SART~�� I�J Z��� � ��6�� 5./��T  .5=����� _"����� GJ 5T+f��� S$�2*:  

 < (  5)���� S
�2 r�+"�i �� I�J ��6�� 5��L � ���	
 5��� 5=
�B�4 ���(�� SART 8+"�K�� u�.(�/&� �   
NM 37 !()H� u�.(�/&� � 5�T�(�� 5)���� S
�2 �O�=T rNM 30 .8+"�K�� u�.(�/&� 0�$% K2�� ���*.  

u(   ���	
 5��� 5=
�B�4 ���(�� 5)���� S
�2 r8+N ��6�� 5��L �SART 8+"�K�� u�.(�/&� �   
NM 14�2 �O�=T r !()H� u�.(�/&� � 5�T�(�� 5)���� S
NM 11,5 .8+"�K�� u�.(�/&� 0�$% K2�� ���*.  

�(   EB��� � G�=,� �� �O2 5f=���� S
�2 ~�� I�J u���� 8+N ��6�� 5��L �5 . ������ 0�=�
� �+F K�*
SART��> 5()�+� u��� 5./��T +�,�� � 8+"�K�� u�.(�/&� ��3  .T 5)���� S
�2* ������* ��6�+�� 9
SART���%  . G� ��(���� ��K(�� S
�2*SART~�� I�J u����� 8+�,�� ��6�+�� E,� G� ��(%  . EB��� �*5 

 ���	
 6���� ��(��� G�=,%SART 5O=(�� A�W.(��� A�=����� G�=,�* r'oW) S�=� ��� 8+"�K�� u�.(�/&� ��3 
 ���	4 5�+P���SART� u�.(�/&� ��3 !()H .��� � 5�+P��� 5O=(�� ���� 0�) '��*6 5�=(�� ��
�=,�� *K,%*? 

"SART��6�+�� g
  ." ���	
 ��Y� A�2*SART 5^,��� Z��� +	�� I�J 8+"�K�� u�.(�/&� ��3 )PPI ( �
!()H� u�.(�/&� ���	
 ��Y� G� -b*<* ���< ��6�+�� .� u�.(�/&� 0�$% _"����� ?�� K2�% ¡����T*8+"�K� .

!�� �� :�3 � @,���* : u�.(�/&� +��J � A�,��� 8+"�K�� u�.(�/&� A¢) !"�T+YB�� C�£� A��*K� '�+P

!/<+�� u�.(�/&� +��J �* !()H� . G� G�+��W�� G��[ 5,����T +�,�� -./ 7T d=O�� 8��� ��BW
&� M��¤*

M=����� +>��J .�K�J C�,(�/&� ��� ���� A¢) :���* +�,�� -./ GJ 5�BW��� 5F���* �+	�,�� 5F��� EQ�K�% �
5)���� ���T ���� . 5F�� � �Y��+e GB¥ ��� 5)���� �6��{ g
 �+��P�� ?�� 86�%*SART u�.(�/&� ��3 

 5,��T !()H� u�.(�/&� 5F�� � �Y�+e GB¥ ��� 5)���� GJ 8+"�K��%30+n2< *< .  
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 EB���5  
 -
)
���� ��
12 ����	3�SART4	/���� 5
��(�*� -�6   

7�89� 5
��(�:� ��	;#�� ������<  

  

  

  

  

  

  

  

  

  

  

  

  
 ��J � S�+F< :�3 I�J �*oJ*2004 ���	
 G� ��(���� ��K(�� ��/�=� SART ��6�� ��Km�/�T M>�J �(i h*+� � 

A�T�=�� � ��N< ~�V � 8+N . ��> R�6< A< K2�% :��� 5f=�
*SART  �Y��=n� R�6< GJ 5��/ E(� & 8+"�6 u�.(�/�T
!()< u�.(�/�T.  

¦¦¦¦¦¦¦¦¦¦ 

� ������	
���
 ������� �SART (NM)  

�- ��!���� ./0SART 

   ● ������� �������� 	�
��� ������  

			!��"� �������� �#�$%�� �&����  

 �
��

��
��
 �

	

��
�

(d
B
m
)

  

'��$� !��"� �������� 	�
���� �����(�� )���* +�, SART ��� �- �#�$%�� �&����
 
.���� �/0 1 �����(�� 2�/3.  

�������:	
�/�� 	��5:kW 2,5 !��
-� 6�7*�� :m 9,5 
SART :	
�/�� 	��5 :mW 400 !��
-� 6�7*�� :m 1,0  
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